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Quiz 4 (Practice)

1. Erectile dysfunction (the persistent inability to achieve or maintain an erection suffi-
cient for satisfactory sexual performance) is estimated to affect up to 30 million Ameri-
can men. Sildenafil (later sold under the brand name Viagra) was developed as an oral
therapy for the treatment of erectile dysfunction. The results of the first clinical trial
of this drug were published in 1998. In the trial, 155 men were randomized to receive
Sildenafil, and 155 men were randomized to receive a placebo. The men remained on
the drug/placebo for 12 weeks.

(a) In the study, the Sildenafil group averaged 5.9 successful attempts at sexual inter-
course per month, compared to 1.5 for the placebo group. The pooled standard
deviation is 4.5. Is the drug effective at increasing the number of successful at-
tempts at sexual intercourse? In support of your answer, provide (i) an estimate
of the effect of Sildenafil on number of successful attempts, (ii) a confidence in-
terval for that effect, and (iii) test the hypothesis that Sildenafil has no effect on
the number of successful attempts at successful intercourse.
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(b) The investigators also recorded the number of men who were able to successfully
have sexual intercourse during the trial. In the study, 107 men on Sildenafil were
able to successfully have sexual intercourse, compared with 34 in the placebo
group. Is the drug effective at increasing the probability of successful intercourse?
To answer this question, provide (i) an estimate of the effect of Sildenafil on
probability of successful intercourse, (ii) a confidence interval for that effect, and
(iii) test the hypothesis that Sildenafil has no effect on probability of successful
intercourse.


